Name

C_lessonl I

Look atf the base ten blocks. Write the
number shown,

5+2-=
5-2=
2+3=

Write a number sentence and solve the problem. Leo had 6 goldfish.
He gave away 2 goldfish. How many goldfish does Leo have left?

Leo has goldfish left.

C Lesson 2 D/\/\/\/\/\/\/\/\/\/\

Peter ate U grapes. Later, he ate 3 more grapes. How many grapes did
Peter eat in all?

Peter ate grapes in all.
3+6=

4-3=

l+7 =

Look at the base ten blocks. Cross out 7 blocks. Complete the number
sentence and solve the problem.

-7 =
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